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. Comparative advantage means that one country can produce (A) more of a good

than another country can. (B) a good at lower marginal cost than another country
can. (C) a good at lower long-run average total cost than another country can. (D) a
good at higher opportunity cost than another country can. (E) a good at lower
opportunity cost than another country can.

. Excess capacity occurs (A) in perfect competition. (B) n monopohstlc competition.

(C) in monopoly. (D) in oligopoly. ~
If it is true that I, as an oligopolist, am faced by a “kinked” demand curve, it is
because: (A) my competitors will match any price cut I might make, but not any
price increase. (B) my position is sufficiently close to monopoly that I do not have
to worry over the reaction of any competitors to any price change I might make.
(C) my competitors will match any price increase I might make, but not any price
cut. (D) my competitors will match any price cut or increase I might make.
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With perfect price discrimination, (A) the marginal revenue curve becomes steeper.
(B) the demand curve also becomes the marginal revenue. (C) the demand curve is
steeper than the marginal revenue. (D) the demand curve is not as steep as the
marginal revenue. (E) there is no way to define marginal revenue.




10.Which of the following is true of a perfectly competitive firm that operates in the
short run at the profit-maximizing quantity but not true of a monopolist that does
not practice price discrimination? (A) Marginal revenue is less than marginal cost.
(B) Price is greater than marginal cost. (C) Marginal revenue equals marginal cost.
(D) Price equals marginal cost. (E) Marginal revenue is greater than average
revenue.

11.The notion that money supply changes will not affect real variable is called (A)
quantity theory of money. (B) the classical dichotomy. (C) monetary neutrality. (D)
fisher effect. (E) monetary policy.
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12.Which of the following statements in relation to monetary targets is correct? (A)
The Keynesian approach suggests that monetary authorities should worry about the
money supply; the monetarist approach suggests that monetary authorities should
worry about interest rates. (B) Both the Keynesian approach and the monetarist
approach suggest that monetary authorities should worry about the money supply.
(C) Both the Keynesian approach and the monetarist approach suggest that
monetary authorities should worry about the interest rates. (D) The Keynesian
approach suggests that monetary authorities should worry about the interest rates;
the monetarist approach suggests that monetary authorities should worry about the
money supply. (E) Neither the Keynesian approach nor the monetarist approach
suggests that monetary authorities should worr‘y about the interest rates.

13.Which of the following will shift a short-run Phillips curve? (A) Change in the
expected inflation rate. (B) Unanticipated inflation. (C) The real interest rate. (D)
The nominal interest rate. (E) The long-run Phillips curve.

14.If people expect inflation to be higher, then the (A) Phillips curve is vertical in the
short run. (B) short-run Phillips curve shifts to the right. (C) short-run Phillips
curve shifts to the left. (D) Phillips curve does not shift because it assumes that
expectations are rational. (E) Phillips curve is horizontal in the long run.

15 B ERFR (Fisher effect) /5 (A)BEREFIRZ HaIBR B)BUFHUERR
R KRG (O REAFER Y MG O)EBRRRELFERLY
R (% o

16.If the money is neutral, (A) an increase in the money supply does nothing. (B) the
money supply cannot be changed because it is tied to a commodity such as gold.
(C) a change in the money supply only affects real variables such as real output. (D)
a change in the money supply only affects nommal varlables such as prices and

dollar wages. (E) a change in the money supply reduces ve10c1ty propomonately,
therefore there is no effect on either prices or real output.
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1. Which of the following are characteristics of monopolistic competition? (A) Each
firm has a small degree of market power. (B) There are no barriers to entry. (C) Firms
charge the same price for their products. (D) There are a large number of sellers. (E)
Products are differentiated.

2. MERER  ERNTEESINEREESLE  AIRETHE AFEF =
Lt B)IIRREFREN (CFBEIMIEEI (D)REHKEZ(E -

3. Which of the following are not examples of “adverse selection” ? (A) At a low

wage, a worker quits to find a better job. (B) At a low wage, a worker sleeps when the
boss is not looking because the worker is not deeply concerned about being fired. (C)
At a low wage, a worker cannot afford a healthy diet so he falls asleep at work due to
a lack of energy. (D) At a low wage, only poorly qualified workers ever apply for this
job.
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